2.0 2019 £ 4 Ay BEFPERIE E+hHEEEE
B & Faseo | smaeo g x & ) & s | B PERAE
EELAVA T | mivE
- ( % AR | GL-HR) |BE &y €RE) C -~ B ) AR | GBHR) |8 &y
1 | - [BPALEIT FE FE 610 17 | =& |E7ha0Y7 JoaTa—R  FEH 628
< THhO=—HS54 mL 27 = UFRIBE ESRY 19.8
(H) LRI+ _ Hi=Y& 18.3 1.7 | (k) ke 5+ _ 226 2.1
2 — 85 BONI—LLOPHE 43 XS 623 8 | o PP 43 AESV21—R 623
= AL AN 31 = I—4 LR HARN 15
() EREA—DRA—T IZHyTE— HIN—R | 137 34 | (XK) * | EHER—T s=—hpv7+ty—] 181 35
3 85 Y—h—EE IPE=DEEE 43, 630 19 | i [FERESR/ X0 % 45 43 614
=% Aa—Y 23.3 RINFTF AN F Y (S—FY—R-FRTA+Y—R) T—% 20.8
(K) HhhR—F _ 192 24 | (&) Y955 hEER—T BEWiE _ 19.8 3.2
s | o [F=9F2— \ FE e 604 20 | 5o [PYEAYFUR-DrL) FE 3 642
Hh)Ah)yR—ar 454 BIFAHHESE 21.8 Zayal)—Eh Tz L 23.3
(R)] S KEto _ 156 2.2 | (+) a—VR—7 KEH®D _ 281 1.7
5 | o [BTR F5 #3l 686 99 | 2B [EREYFDEIED F5 E 623
- HhdiEL = 1oAY 27.6 R |FvRYVENLOTEYIFIZ BHEMAF 23.6
(&) kgt <HHo 203 | (A) kit <EED _ _ 136 2.8
— MCEDRAT1vIEIT BRI —X Z3E) 626
5] = X = O° 23 | <& ZIL—YAYEHEFIZ ERERL/NY 27.2
A. ﬁﬁ .;/* () MREaA—2DRA—T _ _ 16.5 1.6
EDEE 624 04 |PYRTFR—VE—2X F3 F3 637
20.7 CER|LSTAYUBUVIL <wvavan—| 268
_ 206 2.1 | (K) DODERDR—T S=HyFEY— _ _ 19.1 24
9 | ws [BESER Z3) EE3 631 25 | —g |-2oF 3 3L 614
RThR—a b BIZFEY 19.9 = MEBPHDIIARE Cohvet 24.6
() HhOA—T L2310 _ _ 9.9 31 (R) K+ <10 _ 141 2.2
0| - 272 FE FF 685 26 |V OE | KCELOHERL * FE = 668
= VLZEDEY Rybr—+ 25.5 Y’y |TET7S54 RFry54 sk 30.3
(7K) bR _ 243 31 | (&) a— RE—Ta 1D _ ELREFHAZRTH] 21 17
11 | PO [¥=<L—FFFY 43, =% 632 97 | —& [NYYITR 45, 43 642
e FoRYDEHRMZ 3—5 Lk 323 - FoRNYRX—TF mL 19
() K+ S-hyJE)— _ JIN—R | 119 21 J(B)] K Ko 20.3 3.1
12 — g5 =R E3A—7 )L DEV4 657 3JIRLLE HOY—(636keal) F-AIE<E (24.3g) FERA(18.0g) AL L(294g) $#(3.2mg) BN (5.1g) E/HIHLE (26mg)
) = E%@(ﬁf%*ni HARL 29.9 3Rk HOYU—(532Kcal) T-A/IE<HE (203g) BERA(1508) AL L (252me) #(2.7me) BWiH (42e) HEHBLEQ1g)
& ; 21D 2=—hyJEY—| 146 3 P . e ST | — P 2 45 A £ . N =51 L % —612koa
v TC—SEL T T 37 HMEICEVBIZDOABIERICGEDHIGENHYET . CHERHMBE S, tﬁj@5>_3~j0’_g;;§ﬁﬁ£1§2~2'0_4g
w =545 \
+) i AL R FERISARNORVTNG BIE. FEavTOMIZRT—UHEBLTTFEL,
15 | -k BELya<q 43, 3TN 680
= ZIF53H3545 D2 BN 27.6
(A) RIERX—T _ 24.3 33
16 | —= BREA L) HILER 628
= J—I)LAA—H54 mL 27.9
() R+ <310 FvoT+F—X| 165 2.8




